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3.6 Practice Problems 

 

a) Odds = 14/4 = 3.5 
 

b) Odds = 36/46 = 0.7826 
 

c) Odds Ratio =(14/4)/(36/46)=4.47 
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a) PrevalanceMedication  = 28/400 = 0.070 

PrevalancePlacebo  = 43/400 = 0.105 

Relative Risk  = 0.070/0.105 = 0.67 

 

b) Odds Ratio = 
0.070 / (1 0.070)

0.105 / (1 0.105)

−

−
 

 
c) The relative risk is a more intuitive measure and appropriate for a prospective study. 
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a) prevCancer = 2/13 = 0.1538 -> 15.38% 

 

b) CICancer = 2/13 = 0.1538 

 

c) IRCancer = 6/(9+24+18+15+21+24+24+15+24+3+15+21+24) = 0.0253 per month  
 or 25 per 1000 person-month 

d) IRDeath = 1/(24+24+18+24+24+24+24+15+24+24+24+24+24) = 0.0034 per month 

 or 3 per 1000 person-month 
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a) 48 of 625 had in 2015 

 57 of 577 had in 2020 

 PP = 48/625 = 0.0768 -> 7.7% 

b) CI = 57/577 = 0.099 -> 9.9% 

c) PP = (48+57)/625 = 0.168 -> 16.8% 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


